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Setting



Estimating Sums



Setting (Estimate Sum)



Pushing Sampling down Join (SSJ)



Setting (Estimate Sum + SSJ)



Improve on this!

takes O(|R1|)

1)

2)

can be improved



Improve on this!

takes O(|R1|)

1)

2)

can be improved



Estimating Sums



This matters!

uniform

weighted

error

sample 1000 elements out of 107
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Faster Sampling

Cost of taking size m sample:

● Default O(|R1|)
● Heuristic Sampling O(m2)
● Use CDF of R1 O(m log|R1|)
● Uniform O(m log|R1|)

times slower than Uniform
(when including join and aggregation)

m



Heuristic Sampling

m2



Questions?


